Al#E10—3

BUREHMEEAE (ERIED

[MESEDTFTELEE]
B B - IS HRE BRI RET
A e B BEEROERES BiEER & 8—28
B 2 2R B 20EEBEERE
60, 000 60, 000 500, 000 600, 000 1, 140, 000
Ly FE (F M)
0] 0] 0]
§¢ﬁm%§ (F 8)
()
* 55, 920 0 A 412,964
iR B8 LE (FH)
115, 920 60, 000 87,036
(M)
115, 920 60, 000 86, 987
# /7 8 (FM)
BRFELROBMERR  |gpesrmic, os@sREOREEHE LTV BEASHDID. HEEEHELTNS.,

~D RBRIKR




Al#E10-3

BUREHEEAE (ERIR2)

BURA - IS H T HRER BRI EHELT S == 8—28 .
¥ & B B FEE B AR 475 S D SBR[
LKBHRELE (AR
= o= . 284 204 P
ERES £&t B EE -] ] e BEERE ) &
[ ) 1| EiXERE o - ERERREEE - ERERHEEICLELRE 600, 000 1, 140, 000
([ J 2
SRR
FLTO | @ 3
& T
(AV-E 0] P
600, 000 1,140, 000
iy
* 1
* 2
SR ERIZ
BLTe | ¢ | 3
& T
(AV-E 0] * 4
INEE
(@] 1
(@] 2
SRR
BLWTO | o | 3
& T
(AV-E 0] o 4
INEE
<o 1
<o 2
SR ERIZ
BLWTO | o | 3
& T
(AY-E 7)) o | 4
INEt
" 600, 000 1,140, 000




Al #K10-3

(RELOAR - EFRMNGERIRAR]

BURFHEEAE (ERIFR3)

BUR4A M- HIBICH T RERBHERETHET S BEE 8—28
FHEE
- = BURETHE#ER O KBRIC = 4k S P
;3’%;%% ?Ekigﬁﬁ Ziifi 29£EJ§ e & ’E)EIE Lgﬁ (ﬁumg‘@ I&%E;ﬁﬁﬁ‘n%@ﬁ%g;}z’\@ﬁﬂipqﬁ
o maEkm AR

EE LA




